Precalculus						Name:
Due Sept. 19 (Monday)


Functional Analysis of 2011-2012 YIHS Budget

Definitions:
	Total Budgeted Expenses:  					$249,445.00
E =	Number of Students Enrolled:					--
	Current Average Tuition and Fees per Student:		     $3,122.00
T =	Total Tuition and Fees:					 T(E) = 3122E
F =	Student Fundraising:							--
M =      Student Fundraising Matching Grant:			    M(F) = 3F
O =	Other Fundraising:						   $43,800.00	
___________________________________________________________________________________________

B = 	Total Income for 2011-2012:   		                        B  = T + M + F + O
N =       Net Income for 2011-2012:			     N(B) = B – 249,445

Problem 1:  
Given:  E = 40
What value of F would be necessary to make N = 0











Problem 2:  
Given:  F = 12,000
What value of E would be necessary to make N = 0











Problem 3:  
Given:  F = 12,000
               E = 40				(This is the current budgetary projection.)

What is the value of N?














Problem 4:  
Given:  E = 40
  
What is the students don’t meet the fundraising goal and F = 10,000?

What is the value of N in this situation?
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